Understand and use the sum of the interior
angles in any polygon

|

Split the polygons into triangles to work out the sum of their interior
angles. Your lines should not overlap.

a The sum of the interior angles of a triangle is 180°.

The first one has been done for you.

) number of sides = 5
number of triangles = 3
3 x 180 = 540

The sum of the interior angles of a pentagon is 540°.

b)
number of sides = 6
number of triangles = G
Lo |x180=| 720
The sum of the interior angles of a hexagonis| 7 20O ’
<)
number of sides = Pl
number of triangles = 5
S x 180 = 300
The sum of the interior angles of a heptagonis| 40 °
What do you notice about the number of sides compared to the number
of triangles?

a Complete the table.

Shape Number of sides Nu.mber of Sum of interior
triangles angles
quadrilateral 2 360°
pentagon S 2 SLUO6 7
nonagon q 7 \,260 ;
decagon 10 3 ), 440 ’
Masm 6 L 720 )
ockagon g 6 ), 080 “
okocm,c,a@m 12 [0 1,800°

Compare answers with a partner.

Here are her workings.

_\:_-____

10 x 180 = 1,800°

Do you agree with Aisha? _NO

Explain your answer.

Her Wneop
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o Aisha is working out the sum of the interior angles of a polygon.

Souldnt .
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o Work out the sum of the interior angles for each polygon.

Then work out the sizes of the unknown angles.

9]

d)

H
145°
145°

=

37° 1 —37°

sum of interior angles =

sum of interior angles =

sum of interior angles =

sum of interior angles =

sum of interior angles =

a A polygon has n sides.

a) Write an expression in terms of n for the number of triangles inside
the shape.

b) Write an expression in terms of n for the sum of the interior angles of
the polygon.

0 Here is an irregular hexagon.

/{43°

46°
78

79°

89°

a) Work out the size of angle z

b) Did you use rules of interior angles or exterior angles?

Circle your answer

interior exterior

Compare with a partner. Did they work it out the same way?
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